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f)=3-x-x g =3"

() Complete the tables of values for f(x) and g(x).

x -15 -1 -05 0 05 1 15
£x) 225 3 325 225 1 075
x -15 -1 -05 0 05 1 15
20) 019 0.58 173 3 520
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(a) Ali and Ben receive a sum of money.
They share it in the ratio 5: 1
Al receives $2345.

Calculate the total amount.

Lnswer(a) $
(b) Al uses 11% of his $2345 to buy a television.

Calculate the cost of the television.

Answer(®)
(9) Adifferent television costs $330.
(@ Benbuys one in a sale when this cost i reduced by 15%

‘How much does Ben pay?

Answer(c)() $

2

2

[el]
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(i) $330 s 12% less than the cost last year.

Calculate the cost last year.

Answer(c)(i) $ Bl
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(@ Al invests $1500 of his share in a bank account.
‘The account pays compound interest at a rate of 2.3% per year.

Calculate the total amount in the account at the end of 3 years.

Answer(d) $ Bl

() Ali also buys a computer for $325
He later sells this computer for $250.

Calenlate Ali's percentage loss,

Answer(e) % [3]
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In the pentagon ABCDE, angle EAB = angle ABC'= 110° and angle CDE = 84°
Angle BCD = angle DEA =x°.

@ Calculate the value of x.

Answer(@)(i) x= @

(i) BC=CD.
Calculate angle CBD.

Answer(a)(ii) Angle CBD = m
(i) This pentagon also has one line of symmetry.

Calculate angle ADB.

Answer(a)(iif) Angle ADB = m
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(b) A B and Clie ona circle centre O.
Angle 40C=3)° and angle ABC= (4y +4)°

NOTTO

Find the value of y. o

i/

B

Answer(b) y= “
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In the cyclic quadrilateral PORS, angle SPQ = 78°
(i) Wite down the geometrical reason why angle QRS = 102°.
Answer(c)(1)
(i) Angle PRQ: Angle PRS=1:2.
Calculate angle POS.

Answer(c)(i) Angle POS =

n

Bl
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The diagram shows fwo similar figures.
‘The areas of the figures are Sem? and 7.2crn’.
‘The lengths of the bases are Jcm and 6.9 cm.

Calculate the value of /.

Answer(d) 1= B1
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(@) In this question show all your construction arcs and use only a ruler and compasses to draw
the boundaries of your region.

‘This scale drawing shows the positions of four towns, 7, 0, R and S, on a map where 1 cm represents
10km.

North

Scale: em to 10km
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A nature reserve lies in the quadrilateral PORS.
‘The boundaries of the nature reserve are.

equidistant from Q and from R
equidistant from PS and from PQ
60km from R

along OR

(@ Shade the region which represents the nature reserve.

(i) Measure the bearing of § from P.

Answer(a)(i)

m

n
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@ @) Solve 2(3x-7)=13.

Answer(a)(i) x= Bl

(i) Solve by factorising ¥~ 7x+6=0

Answer(a)(ii) x = or x= Bl
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Gii) Solve

Answer(a)(ii) x =
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